2A:

M8 OJEMD FHBS(AHET/SS - HEL0IH)
Rl dFEREPIE 15 2 odssEHe X2 CEREED
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
SPEPNEpTES %.228. 111 §7.128. 112 5,009,999
. 25,144,480
2 3,573,225
5] 40,463,384
< 23,047,022
GETHD SHES(NI=A/2S - L) 10,049,938 10,006,042 ~46.104
S 44,384
5] 5,440,477
< 4,565,117
SEsse 75 2 (AsSNE Nd 1,567,437 1,682,540 A115,103
CPEEESS 29,000 %.000 67,000
201 er2 g 22,000 23,960 A1,960
R 22,000 23.960 ~1,960
CIVPEEEEY 22,000
202 Oit 3,000 3,000
NET 3.000 3,000
ooEEM B xa 3,000
203 G2 EAb| 4,000 4,000
B AFA 2 E] 4,000 4,000
OOEEAE AM 53 4,000
sR0areE 29 1,063,445 1,096,880 ~43.4%5
306 E012 1,063,445 1,096,880 ~43.4%5
NECE 1,063,445 1,096,880 43,435
CESNPPCEEE 1,063,445
NEZIDI - NE 28 =& 484,992 489,660 74,668
307 P10/ H 284,890 260,380 4,50
T EE e 284,880 253,600 26,280
OEEHS| NEIZTIIB SAK HRWL-E 166,000
OSES ABIZTIAIE SAK 2T+ 128,880
308 KX EHHIS 01 & 200, 112 209,280 9,168
01 X SHZAEES 200,112 209,280 9,168
OAIZ AIBIZXIDIB SAR HEHA 4G 30,600
OAIZ MBIZTIAE SAR 2T+ 160,512
Oleol ABIEO S0 2 @ M 160, 100 190,800 30,700
GESAOIZHS =& 67.100 62,600 4,50
201 = 16.100 20,100 4,000
01 Al 2] 2.100 2.100 0
OUAIRIEA AN 2 2,100
0B A2 | 14,000 18,000 £4,000
OUAIIEH AL AlAA 14,000
200 Oit] 2.500 2.50
ETE 2.500 2.50
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2A:

3 04/‘“‘*&]‘1 SHBS(ARSN/ER - IIELAY
Belr HdedEs 2 oY (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
| OJg=E=Ucht NAAE 28 FOHKE 108,810
HARABSTAIE 2F X (HH) 129,301 123,140 6,161
307 el2to| & 129,301 123,140 6,161
10 Al SXAAEEHE 22X 129,301 123,140 6,161
ONgAASIAIE 2g XNI&H 129,301
Oe=2TloH 2010t 2A=sXJ(2E) 14,400 18,000 A3,600
307 21201 & 14,400 18,000 A3,600
11 ARRIS XA E X 14,400 18,000 23,600
O &=l AAJIIHE A=K 14,400
HaRIZda 1366HlE 2 (20)(2E) 747,678 720,798 26,880
Il 373,839
== 373,839
307 elztol & 747,678 720,798 26,880
Jl 373,839
[ 373,839
11 AMEISXAIEELS 747,678 720,798 26,880
ONd2l=ad3t 13664 24 747,678
Jl 373,839
= 373,839
HAISda 1366HIE JISsEZ(20)(HE) 21,400 54,000 A32,600
7l 10,700
= 10,700
402 QIH X201 & 21,400 54,000 A32,600
J| 10,700
== 10,700
02 QI X2 AL EE(0IETHE) 21,400 54,000 A\32,600
Ond2lsdzt 1366MIE JIs22 21,400
Jl 10,700
< 10,700
JHEEY 4EA 23(21) 1,137,130 1,343,8%4 A206,764
Jl 758,088
= 379,042
308 XXM SOIH 1,137,130 1,343,894 A206,764
7l 758,088
=S 379,042
01 XN B2 LS 1,137,130 1,343,8% N206,764
o8 =E" od4 29 1,137,130
Jl 758,088
< 379,042
JHEEEY oA ESAE 2E(=1) 1,099,651 1,121,934 N22,283
Il 928,544
= 171,107
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SN OEEAEIISDY
I g3 SHES(AMISN/ES - IIEL0Y)
=Hel odelEs & oo (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
308 XXM SOl 1,099,651 1,121,934 N22,283
Jl 928,544
== 171,107
01 MRHHBAEES 1,099,651 1,121,934 N22,283
OJIE =4 Lokt EsAld =2¢ 963,401
) 793,389
S 170,012
OJIE =4 LIohA ESAIE Hi=2 MAH 50,034
7l 50,034
OJIE = LohAt Y =&| 6,216
Il 5.121
= 1,005
OJIEZY TdhA NSz 80,000
Jl 80,000
IFEEE Ol BSAE Js22(=12) 55,732 51,273 4,459
Jl 37,185
= 18,577
403 TR SHHMSAH=01H 55,732 51,273 4,459
Jl 37,185
=S 18,577
01 AXISHHA =2 £ 55,732 51,273 4,459
OJtE=4 Lo ESAlE JIs2ES 55,732
Jl 37,155
& 18,577
ZFMHASE F=AHXH 29(=12) 37,733 76,737 A\39,004
Il 31,349
= 6,384
308 XXM SOIE 36,176 36,557 619
7l 29,792
= 6,384
01 AXHB 2 LS 36,176 35,557 619
O=gUlHd F=HIAE 29 36,176
Jl 29,792
== 6,384
403 MR HHMSAHE01H 1,557 0 1,557
) 1,557
01 AXISHHA=2EXE 1,557 0 1,557
OFHUloiod =HXE SUHE2E= 1,557
J| 1,557
JHFEEZ™ HIohiA Xgss 228 2 o=H|(=1) 92,545 160,778 A68,233
Jl 76,214
= 16,331
308 XtXIEMSOIE 92,545 160,778 A68,233
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2A:

3 OVZ’“&I’; %%%%(Mil%ll/_‘?'_% IIERUY
el HEQAES & ol EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
7l 76,214
=S 16,331
01 AXHNBELES 92,545 160,778 68,233
OIIE ==k A A=el=222 03 55,99
Il 46,114
< 9,881
OJIEZHIo A+ 2/ =H] 36,550
Il 30,100
= 6,450
ZH0IoH 0IFHE aEx 2E(21) 255,300 247,206 8,094
7l 170,200
=S 85,100
308 XXM SOIH 255,300 247,206 8,094
Jl 170,200
== 85,100
01 XN BSELS 255,300 247,206 8,004
ZHUlol 010 42~ =9 255,300
) 170,200
& 85,100
ZHMSH 0l ESAld 22(=21) 238,578 228,252 10,326
Jl 198,770
= 39,808
308 XtXIEMSO0IE 238,578 228,252 10,326
Jl 198,770
=S 39,808
01 XN BELES 238,578 228,252 10,326
ZHUlol 0l E5Ald 29 225,578
Jl 185,770
[ 39,808
O=gUlol 0IF0d ESAlE E4aX IUHE
ANEs 13,000
Jl 13,000
ZMIcH 0IF0d BEsAlE JIsE2(=21) 1,778 0 1,778
Il 1,464
= 314
403 AXIEHMSAH=201H 1,778 0 1,778
7l 1,464
= 314
01 AR A= 2 £ 1,778 0 1,778
O==llol 0IF0d ESAIE JIsEd 1,778
7l 1,464
=S 314
sfibetd|dlE 2L (=210)(RE) 2,450,741 2,226,024 224,717
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SN OEEAEIISDY
I g3 SHES(AMISN/ES - IIEL0Y)
el HEQAES & ol EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
Il 1,715,519
=S 735,222
307 lztol & 2,450,741 2,226,024 224,717
Jl 1,715,519
== 735,222
11 AMEISXAEEXS 2,450,741 2,226,024 224,717
Oofittetllsle 24 2,450,741
) 1,715,519
= 735,222
SEEMIA 24 - SSHIE - 2UHIS(22) (R 172,205 197,000 N24,79%5
&)
7l 120,544
= 51,661
307 elztol & 172,205 197,000 N24, 795
Il 120,544
== 51,661
1 AMEISXAEEXS 172,205 197,000 N24,795
Od=gUloikt g24Y - =3HIE - FU
BlE 172,205
) 120,544
= 51,661
HE3 Mg4 22(21) 319,549 313,092 6,457
Jl 213,033
= 106,516
308 XtXIEMSO0IE 319,549 313,092 6,457
Il 213,033
== 106,516
01 HXHH B E2ES 319,549 313,092 6,457
Odg=8 dEL 29 319,549
Il 213,033
< 106,516
el 45 44 29(=21) 139,447 136,757 2,690
Il 92,965
= 46,482
308 AHXIHMSO0IA 139,447 136,757 2,690
7l 92,965
= 46,482
01 AXENBEES 139,447 136,757 2,690
OO L= ML 29 139,447
Jl 92,965
== 46,482
A I6iK EsAld 22 (=21) 179,306 176,79 2,507
Jl 148,3%4
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SN OEEAEIISDY
3 oYY dHES(MAST/ES - IHFY0E
=Hel odelEs & oo (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
< 30,912
308 AtXIEMSOIE 179,306 176,79 2,507
Il 148,3%4
= 30,912
01 XN B EES 179,306 176,799 2,507
Od=4Uoiit 2ESAIE 2 170,917
7l 140,755
= 30,162
O&ZHIIN A BES AL Hi== A Al 8,389
J| 7,639
S 750
HE 16 EsAlE JIsE2(=21) 5,190 2,124 3,066
Il 3,460
= 1,730
403 AXIEHHSAH=201H 5,190 2,124 3,066
7l 3,460
= 1,730
01 AR A =2 £ 5,190 2,124 3.066
Od=EHMINA ESAIE JIsEL 5,190
Il 3,460
s 1,730
AE O6iA X2 - ISZE20-3(=1) 5,707 25,305 19,598
) 4,700
& 1,007
308 AHAIEMSOIE 5,707 25,305 19,508
Jl 4,700
= 1,007
01 XN EES 5,707 25,305 219,508
Od=&Mloikt Xz - 3I5Z2 5,707
Jl 4,700
= 1,007
g2 Toix 22l - 2EHI(52) 53,266 59,194 £5,928
Jl 43,867
< 9,39
308 AXItHS0IA 53,266 59,194 N5,928
) 43,867
S 9,39
01 X SHHBAEXS 53,266 59,194 Ab,928
Od=4 UlollAt 2l=H] - 2HEH| 53,266
Il 43,867
= 9,39
SOHOHTIGHAH RIRAIE X AEA 2E(F1) 349,805 337,589 12,216
Jl 265,689
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2A:
PSR
ool

SA - ZE . BR(3) - HRAR - BES of v G o HIDE2

< 84,116

308 AXIHSOIA 349,806 337,589 12,216
Il 265,689
= 84,116

01 XN B EES 349,805 337,589 12,216
OHDHORIIOH At XIFAIE 2 207,09%
7l 170,549
= 36,546
OHDHONIOH Kt &4 29 142,710
Il 95,140
< 47,570

SOHOHTIGHAH R EXIR(=1) 40,716 73,629 A32,913
Il 33,531
= 7,185

308 XM SOIE 40,716 73,629 A32,913
7l 33,531
= 7,185

01 AXEN B2 LS 40,716 73,629 N32,913
O« OHOR WO At =X 40,716
Il 33,531
s 7,185

SOHOHLIGHAH XIZAIE JIS22(=2) 9,046 2,416 6,630
) 6,031
& 3,015

403 AXIEHMSA=Z0l1d 9,046 2,416 6,630
Jl 6.031
= 3,015

01 XISHH A= 2 9,046 2,416 6,630
OXOHOHIIOH Kt XIRAIE JIs22 9,046
Jl 6,031
= 3,015

SOHOH TIoHots - AW X|AME 2H(30)(2E 127,882 125,530 2,352
Jl 63,941
< 63,941

307 ei2to| & 127,882 125,530 2,352
) 63,941
S 63,941

11 MBS XIALS 127,882 125,530 2,352
O&U0H0H Llohots - Ead XAHH 29 127,882
Il 63,941
= 63,941

Ot EHugus 23(20)(2E) 88,688 80,346 8,342
= 44,344
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2A:

3 OVZ’“&I’? %%%%(Mil%ll/_‘?'_% HEHOY)
=Hel odelEs & oo (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
< 44,344
307 @20l & 88,688 80,346 8,342
2 44,344
== 44,344
11 ARRIS XA E X 88,688 80,346 8,342
OoPl= ZH0gus 29 88,688
2 44,344
= 44,344
4 Xy 2829 Sg Zu=s 8,500 8,500 0
201 er23| 8,500 8,500
01 At2teltl 8,500 8,500
o4 XA 259 S LU= 8,500
LISOISAIE SHEY HEs 15,000 15,000 0
308 AXIHSOIA 15,000 15,000
01 HASHHBAEEXS 15,000 15,000
OAZIZAIE 28 XI& 15,000
OHFIF MHIA X 3,000 5,000 A2,000
201 2egr=3| 3,000 5,000 A2,000
01 At22t2lt] 3,000 5,000 22,000
Ot AL MblA X2 3,000
AEZ 6K Xgsls Z20(=21) 10,000 0 10,000
Jl 7,000
< 3,000
307 elzto| & 10,000 0 10,000
) 7,000
& 3,000
1 AMISXAIEEX 10,000 0 10,000
OAEZ oAt Xzzs T2 1 10,000
Il 7,000
= 3,000
A2 TIGHA SHFE =AY 2E(=21) 49,360 0 49,360
Il 24,680
= 24,680
307 elztol & 49,360 0 49,360
Jl 24,680
< 24,680
1 AMEISXAEEXS 49,360 0 49,360
OAEZ Ukt S F=HAE 2| 49,360
) 24,680
= 24,680
AE2 TIGHA LU=8 =X LUHESS(=1) 48,000 0 48,000
7l 48,000
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A HE8FE2EIIED
T GARUD YHBS(ABISX/2S - HSU0IA)
&l (eI ES & oY (EEREE))
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
402 QI”F X201 & 48,000 0 48,000
Jl 48,000
02 RIENEASEZ(0IETHR) 48,000 0 48,000
OAEY TohA LU SUHESS K2 48,000
7l 48,000
AEZ TGHA 2ASFHXH(=1) 125,600 0 125,600
Il 62,800
= 62,800
307 212+01& 125,600 0 125,600
7l 62,800
= 62,800
11 AMEISXAEEES 125,600 0 125,600
OAEZ Holkt 2g=HAE 23] 125,600
Il 62,800
== 62,800
Ch2sh 22018 X (AMSEX/ES - IHELHE) 59,880,012 51,192,740 8,687,272
= 24,476,732
= 750,000
Jl 27,056,119
=S 7,597,161
ClEstis SEAE 7 2,585,281 2,738,061 152,780
J| 1,990,544
< 594,737
Ct2st & A2t XIE UERD 5 6,000 6,600 2600
201 fer23| 2,500 3,100 2600
01 AtR2t2|HI 2,500 3,100 A600
Olt=zst & H20td XA UERA #5 2,500
202 04| 3,500 3,500
01 =LHOHI 3,500 3,500
OCtzst & A28 X& UERIA 75 3,500
JESENXE 2A=00F01 & GEIIE K2 823 2,340 2,600 260
29
201 er23 | 2,340 2,600 A260
01 At2teltl 2,340 2,600 A260
o=l & LEIE A3 g3 2,340
Ch=2abts Eoler =4 10,097 9,897 200
308 AXIHSOIA 10,097 9,897 200
01 HAHHBSEEXS 10,097 9,897 200
ZE0I2A &5 HEE 10,097
HIAIIS & IS &AL 28,090 32,310 N4,220
307 212+01& 19,990 24,210 A4,220
11 AMRISXAEEES 19,990 24,210 N4,220

— 485 -




HEHAEIIED
CHRst ALHE XA (AEISK/ES - IIEL0Y
CIEstE SEAE 28 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OAMAIel & JIE A 19,990
308 XX EHHISOI® 8,100 8,100
01 RXISRBALEES 8,100 8,100
OMHIIel & JIEBAL ZDH] 8,100
CH2SIILE AlBIEE X 150,101 104,920 45,181
308 XFXIEHHISOI & 150,101 104,920 45,181
01 IXISHBAEES 150,101 104,920 45,181
OCIREIIEXA B82S X 46,601
OLI23t ISR o2 na 28,000
OCHR3t XtAIRHRE A Q2ITH3] 28,000
OCHR3t - AUIE XA 10,000
OCHLEIHE Ol 12,500
OLI=REIE ol2BHg 5,000
O3 R2=AM 20,000
Ch23h SstAr(21) 2,383,653 2,581,734 193,081
pJ 1,990,544
= 398, 109
308 XIXISHHI SOl 2,388,653 2,581,734 193,081
pJ 1,990,544
== 398, 109
01 RIXISHHBAEES 2,388,653 2,581,734 193,081
OLI23IE Y2USXTAH X 810,071
Il 675,059
== 135,012
OZE0I2UX SHHAXAA X 634,260
pJ 528,550
= 105,710
OCHREIHE AU SLYXITAF XIR 462,726
Il 385,605
== 77,121
OLIREIIIE 01F010i8ts X 29,59
BJ 243,830
== 48,766
OZS0/2UX AASKIA 189,000
pJ 157,500
= 31,500
SIINEXNAME 2 7,585,687 6,187,465 1,308,222
2 750,000
pJ 5,406,535
= 1,429,152
ASENRE CHREIIEXE HEHE 29 123,790 150,000 26,210
307 RI2H0I 123,790 150,000 26,210
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DA G HAEIIED
3 O3t 2218 N (MSA/ES - IIEEL NS
=Rl RS XENE 28 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 123,790 150,000 N26,210
OYASENXE U225 XE HEHH
29 123,790
JIFHEH 29 205,415 132,625 72,790
308 AXIHSOIA 205,415 82,625 122,790
01 HASHHBSEXS 205,415 82,625 122,790
OJIFHH 23 63,960
OU=23IE Y2UFAEA MRS 16,455
OJIEHE JIs2d 95,000
OZAL=ES=NNZ 25 N 30,000
=M 28 (=12)(R8) 46,600 44,200 2,400
Jl 23,300
= 23,300
307 @12t0| & 46,600 44,200 2,400
Jl 23,300
= 23,300
11 AMEISXAEEES 46,600 44,200 2,400
OHHSENXEU22DEXE HEHH
29 46,600
Il 23,300
== 23,300
JIEMH 22 (210) 6,459,882 4,160,640 2,299,242
) 5,383,235
= 1,076,647
308 AtXIEMSOIE 6,459,882 4,160,640 2,299,242
Il 5,383,235
= 1,076,647
01 XN B EES 6,459,882 4,160,640 2,299,242
OJI=F4H 22 6,459,882
Il 5,383,235
=S 1,076,647
JIEdE 28(31) 750,000 1,700,000 950,000
= 750,000
403 TR M SAH=01 ™ 750,000 1,700,000 /950,000
= 750,000
01 AXISHHA= 2L 750,000 1,700,000 A950,000
OJIEHH HE 750,000
[ 750,000
A2t 28 &4 28,005,011 21,859,508 6,145,503
= 24,476,732
Il 666, 366
=S 2,861,913
ZAEEIXE JI=E 3 843t 4,760 4,760 0
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CEEENER e
CHRSH AAILE KA (ASIZX/2S - HEL0S
ALt 2ot &4 (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
201 B2 | 4,760 4,760
01 AR 22l 4,760 4,760
OUASHNXIE J=as HL3 4,760
OISE ZHHEH NF2Y(2D) (X 505,324 505,324 0
2 297,662
= 297,662
307 9I2H01& 505,324 505,324 0
2 297,662
= 297,662
11 NESXA 2 E 505,324 505,324 0
O00ISE BAHE NF2Y 505,324
2 207,662
= 207,662
Ol0IEE XA (2D) 26,140,819 19,792,571 6.348,243
= 24,077,070
= 2,063,749
308 XEXIEHHISOIE 26,140,819 19,792,571 6,348,248
2 24,077,070
= 2,063,749
Of IXESHBA2ES 26,140,819 19,792,571 6.348,248
O00ISE XIEAMY 26,140,819
2 24,077,070
= 2,063,749
ISS0LSH 29(2D) 1,061,932 807,213 254,719
| 666,366
= 395,566
308 XXIEHHISOI A 1,061,932 807,213 254,719
] 665,366
= 395,566
O KHXISHBAEES 1,061,932 807,213 254,719
OBES0ILISH 24 1,061,932
| 665,366
= 395,566
AASHIAE OIS0 HPHS K 79,776 74,830 4,8%
308 XIXIEHHISO1& 79,776 74,830 4,8%
O KX SHBAEES 79,776 74,880 4.8%
OOLOIE 20| DEH X2 79,776
FAERQ olsY|Y X A(=1) 122,400 123,840 A1,440
2 102,000
= 20,400
301 LBrEE 122,400 0 122,400
2 102,000
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= 1,459,260
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AHES Y HE ES 11,779,941 10,559,340 1,220,601
= 70,165
| 7,420,868
& 4,288,908
CIXIZ0ICIO ToH HAE X MEASAR BHXIAR( 74,220 72,368 1,852
=2)(x@)
= 37,110
= 37,110
307 QI2Hol A 74,220 72,368 1,852
= 37,110
= 37,110
1 ARI=XAIEE X 74,220 72,368 1,852
OCIXEDICN Hioh EAE X& dgatg
Ab BHXIAHS 74,220
= 37,110
& 37,110
CIXIZ0ICIO ToH HAE X MEASAR BHXIARI( 18,555 18,092 463
22)
= 18,555
308 AXIHMISO0I& 18,555 18,092 463
= 18,555
01 XN AEXS 18,555 18,092 463
OCIXNE0ICN Hoh EAE XJ Hgag
Ab BHXIAHS 18,555
= 18,555
Fagag=EIdye X2 492,213 449,213 43,000
307 QI2Hol M 492,213 449,213 43,000
10 Al SXAEHE2EHIEX 434,613 391,613 43,000
OZJAEENXNTEHAENMNGERHEH 22 434,613
1 ARRI=SXAIEE X 57,600 57,600 0
OLRAESENXN T HAGAESKIMNE AL
K& 57,600
HFAED|2 ABIEReF Al X 1,920 1,728 192
301 LetENEZ 1,920 1,728 192
10 A SRRRJIELZ 1,920 1,728 192
OFAHEI|Z AlERR3 S4H X 1,920
HAEI |2 AIRISRE HiX(Z12)(AE) 13,005 10,252 2,753
| 13,005
301 LeENZ 13,005 10,252 2,753
| 13,005
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| 13,005
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403 XX SHHSA=01H 2,500 0 2,500
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01 MXIStH 22 £ 2,500 0 2,500
OFEAUEEH JIsEZAME X 2,500
| 2,500

HAGAILE - D12 It 29l NJ(2E) 399,666 302,066 97,600

307 QI2HO| M 399,666 302,066 97,600

1 ASI=SXAIEEE 399,666 302,066 97,600
OFEAHEAIL - D12 It 23| XA 399,666
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11 Al =XAMEES 342,384 332,560 9,824
OFELAEHR2H 2 342,384
| 171,192
& 171,192
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7l 974,040
01 HXSHHBSEEXS 974,040 886,428 87,612
ostu §f 344 A 974,040
Jl 974,040
St 8 FAE XH(EA)(=)(HE) 6,578 5,262 1,316
) 3,289
& 3,289
307 @20l & 6,578 5,262 1,316
Il 3,289
= 3,289
1 ARRIS XA E X 6,578 5,262 1,316
O3t 5 A4 X (SA) 6,578
Jl 3,289
= 3,289
&t g Had X(S4)(22) 61,625 49,300 12,325
Jl 61,625
308 AXIHMSO0IA 61,625 49,300 12,325
Jl 61,625
01 HAHHBAEEXS 61,625 49,300 12,325
O&tw & HAH XA(SA) 61,625
Il 61,625
s 8 ad XN (HgY9gdst Z208)(510)(H 118,750 118,750 0
5)
) 83,125
S 35,625
307 @120l & 118,750 118,750 0
Il 83,125
= 35,625
11 AMRISXAEEES 118,750 118,750 0
Ost 5 F4E N2 (HLAzgHst T2
) 118,750
Jl 83,125
< 35,625
S o FAU NR(VYHANE MHI2)(FD)(RT 173,360 0 173,360
)
Il 121,352
= 52,008
307 @I2t0| & 173,360 0 173,360
Jl 121,352
= 52,008
11 AMRISXAEEES 173,360 0 173,360
Osti 5t F4E XNS(MHHSXE MEI2) 173,360
Jl 121,352
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Za: 0l YXel KA (AEE

Rl d2ReAg g= & & (SH9 M)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIRS2
OXYuUsSEH T2 29 846,000
= 846,000
OMYHACIEN 743,736
ax 708,320
T 35,416
OMYHEH 29X 1,226,404
= 1,022,000
= 204,404
2 Z2AWHAMZLoDIME XE 2H(=21) 493,810 480,158 13,652
= 246,905
& 246,905
308 AXIEHMSOIN 493,810 480,158 13,652
iy 246,905
T 246,905
13 BI |2 SUICHEH B A XL EFALH] 493,810 480,158 13,652
Odd ZANZdoIIME XE 29 493,810
= 246,905
= 246,905
ZEHEHLF G (21) 44,239 90,416 NG ATT
= 44,239
308 AXISHMSOIN 44,239 90,416 NG TT
= 44,239
01 XX SHNBAEERZ 44,239 90,416 2NBTT
odHAEI=z M 29 44,239
= 44,239
Hd2&es N3 1,368,300 2,003,700 AB35,400
201 B2 AY| 15,000 30,000 A15,000
01 AR2teld| 15,000 30,000 A 15,000
o4 R2Es KA 15,000
202 (44| 1,500 1,500
01 =WOdbI 1,500 1,500
oWdRzEs KA 1,500
308 AXISHMSOIN 1,351,800 1,972,200 A620,400
01 AIXISHNBAEES 1,351,800 1,972,200 A620,400
oWg-2Es XA 1,351,800
MSHIE SALRE HSLIHA 97,440 95,040 2,400
308 AXISHMSOIA 97,440 95,040 2,400
01 XAIXIEHHBAE LS 83,640 84,000 A360
OMEHEH SAA MM K& 83,640
13 SI |2 SHICHEH B A X L EFALH] 13,800 11,040 2,760
OMYHE SALA MU XA 13,800
Oe 2R2IAt =& 6,400 6,400 0
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oHd gXitel X MES

M N/ES - HEL0IA)
SRl GEUATRIAY BB UL XY =X (el )
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
201 er23| 2,400 2,400
01 AlR2teldl 2,400 2,400
ONW& LRIt =& 2,400
202 04t 4,000 4,000
01 =LHOHI 4,000 4,000
OWd LAeIAted =& 4,000
Hglgede =23 342,932 336,985 5,947
308 AtAIEHMSOIE 342,932 336,985 5,947
01 AXEHBSEES 342,932 336,985 5,947
o0gelsiguE =24 342,932
NeSst Hgdzels &y 74,000 80,000 26,000
308 XXM SOIA 74,000 80,000 26,000
13 SIS0t 4 A AS A 74,000 80,000 26,000
OXNSEst HE&2ols oy 74,000
e F - &g 820t dEu= K 10,000 0 10,000
308 AXIMSOIA 10,000 10,000
01 HRHHBAEEXS 10,000 10,000
Oy # - &g 2t LU= X2 10,000
HY2SIAHI(HAEAEIED) (OIEH/DIE 38,739 38,021 718
=34l 38,739 38,021 718
2A29 J1=3l 38,739 38,021 718
201 Ler23| 27,357 27,357 0
01 At2teltl 27,357 27,357 0
SEN2E AIR2ell 27,357
202 048l 7,182 6,464 718
01 2L AH| 7,182 6,464 718
SMEE UL 7,182
203 =] 4,200 4,200
M EASHLRFAH 4,200 4,200
©25¢2! Olat 4,200
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